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Instructions :(1) This paper contains FIVE questions.

Q:1 (A)
(B)
Q:2 (A)
(B)

(2) All questions are compulsory.
(3) Question No.2, 3, 4 have internal options.
(4) Figures in the right side in parenthesis indicate marks.

Explain in detail the role of data in business.

Six coins are tossed for 200 times and the frequency distribution for number of
heads is as under. Find first four central moments, skewness, kurtosis. Also
find (y,) and also find (y,).

No. ofheads [0 |1 2 3 4 E 6
| Frequency |2 |16 40 |84 40 |16 2
The probability that a patient will get reaction of a particular injection is
0.0001. 2000 patients are given that injection. Find the probabilities that 13
patients will get reaction (ii) more than 2 patients will get reaction.

(72 = 0.135)

An entrance test of 200 marks is conducted for higher study.20,000 students
remain present in the examination and the marks obtained by them follows
normal distribution with mean 120 and standard deviation 20. The rules for the
result are as under:

(a) Students who acquire less than 40 percent marks are failed.

(b) An additional test is conducted for the students acquiring marks between
40 percent and 48 percent

(¢)Students who acquire mark between 48 percent and 75 percent are called
for personal interview

(d) Students who acquire marks more than 75 percent get direct admission for
the higher studies.

[Max. Marks :
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Q2 (A)

(B)

Q:3 (A)

(B)

Q:3 (A)

(B)
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Find approximate number of students who: (1) failed in test (2) appeared for
additional 100 marks test (3) appeared for personal interview and (4) got direct
admission for the higher studies.

OR
In the dispensary of Dr. Urvi Shah, 10% patients out of 50 patients are
suffering from cold. If 5 patients are inquired randomly, find the probability
that not more than 2 of them are are not suffering from cold. Also find the
average number of patients suffering from cold.
A man speaks the truth 4 out of 5 times. He throws a die and reports that it is
actually a six. Find the probability that it is actually a six.
A company has the head office at Kolkata and a branch office at Mumbai. The
personal director wanted to know if the workers at the two places would like
the introduction of a new plan of work and a survey was conducted for this
purpose. Out of a sample of SO workers at Kolkata 62% favoured the new
plan, At Mumbai out of a sample of 400 workers 41% were against the new
plan. Is there any significant difference between the two groups in their
attitude towards the new plan at 5% level of significance ?
In a certain factory there are two independent processes manufacturing the
same item. The average weight in a sample of 250 items produced from one
process is found to be 120 grams with a S.D. of 12gms. While the
corresponding figures in a sample of 400 items from other process are 124 and
14. Is the difference between the mean weight significant at 1% level of
significance?

OR
Fora random sample of 250bservations taken from a normal population mean
is 42.5 and sum of squares of the deviations of observations taken from the
mean is 216. Test the hypothesis at 5% and 1% level
of significance that the population mean be 44 and give your conclusion.
[t24005) = 2.064, t(24,0.01) = 2.797, t(25,0,01) = 2.787 ]
The memory test of ten students was conducted, before training and after
training. Do you, is there any significant effect due to training? t(9,0.05) = 2.66
Students No. 1 2 3 14 5 6 7 8 9 110
Marks before |42 32 |67 |55 |53 |62 |54 66 (21 |56
training
Marks after 37 141 |71 |67 (66 |55 |57 62 |37 157
training
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Q:4 By using y? distribution test the hypothesis that the following distribution follows (14)
binomial distribution.

No. of heads 0 |1 |2 3 4 5 6 7 8 |9
Frequency 1 |2 |10 |50 |154 100 98 194 |2 |1
[Xz(s,o.os) = 11.07]
OR
Q:4 Prepare two-way ANOVA table for the data given below and give your comment (14)
about it:
) Operators
Machine ] > 3
1 530 526 538
2 524 529 528
3 533 524 535
4 536 531 530
5 527 535 533
Use coding method subtracting 530 from each data value. [Given F(8, 2)=19.4,
F(8,4)=6.04]
Q:5 Do as directed: (14)

I.  Poweroftest=..........
II.  Define Null hypothesis.
III.  State the formula of correction factor.
IV.  What is the value of Z at 10% level of significance?
V.  For a normal distribution, the estimated value of quartile deviation is 12.
Find the value of standard distribution.
VI.  Seven students of a group get 20, 20, 20, 20, 20, 20, 20 marks in a test of 45
marks. What is the standard deviation of their marks?
VII.  What is the probability of having 5 Thursdays in the month of February in a
year which is not a leap year?
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Table ::%f srandard Normal Curve

Area Upder the Standard Normal Curve

2o Oto 7 = 7,z being stondard normal varioe
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